Calculating the area of shapes
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Areagquare = length x breadth
=55x%x55
=30.25 cm’

Areagiange = ¥2 X base x perpendicular height

=% x4 7x7

=16.45 cm?
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Areayapzium = Y2(at+b) x perpendicular height

= 15(6+11) x 4

>

= 1(17) x 4
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=85x4

=34 cm?
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Note: |have drawn a diagram using a ruler.

| have said what | am going to do for each question.

| have included units with each answer.

Extra work can be found at | WWW.ACHILDSGUIDETO.COM



Calculating the area of shapes
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Extra work can be found at | WWW.ACHILDSGUIDETO.COM
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Calculating the area of shapes
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Extra work can be found at | WWW.ACHILDSGUIDETO.COM




Calculating the area of shapes
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Extra work can be found at | WWW.ACHILDSGUIDETO.COM




Calculating the area of shapes
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Extra work can be found at | WWW.ACHILDSGUIDETO.COM



